

G GILMORE & ASSOCIATES, INC.
&A BID TABULATION

CLIENT:

West Norriton Township

PROJECT NAME:

Brandon Road and Juniata Road Mill & Overlay

PROJECT NUMBER:

20-07104

PROJECT BID DATE:

DATE: 26-Aug-20

Glasgow, Inc
 105 Willow Grove Avenue
 Glenside, PA
 215-884-8801

DiRocco Bros.
 509 Maple Avenue
 West Chester, PA 19380
 610-696-0571

Joseph E. Sucher and Sons, Inc.
 933 Saville Avenue
 Eddystone, PA 19022
 610-872-0892

H&K Group, Inc.
 2052 Lucon Road
 P.O.Box 196
 Skippack, PA 19474
 610-705-0500

#	DESCRIPTION	QUANTITY & UNITS		UNIT PRICE	TOTAL						
BASE BID											
1	1.5" Roadway Mill - Brandon Road	9660	SY	\$1.70	\$16,422.00	\$1.75	\$16,905.00	\$1.90	\$18,354.00	\$2.50	\$24,150.00
2	1.5" Wearing Course, including tack coat & joint sealant - Brandon Road	9660	SY	\$5.64	\$54,482.40	\$6.38	\$61,630.80	\$7.50	\$72,450.00	\$7.25	\$70,035.00
3	1.5" Roadway Mill - Juniata Road	4665	SY	\$2.99	\$13,948.35	\$2.39	\$11,149.35	\$1.90	\$8,863.50	\$2.50	\$11,662.50
4	1.5" Wearing Course, including tack coat & joint sealant - Juniata Road	4665	SY	\$6.65	\$31,022.25	\$7.10	\$33,121.50	\$7.50	\$34,987.50	\$7.25	\$33,821.25
5	3" Base Repair	180	SY	\$42.25	\$7,605.00	\$45.90	\$8,262.00	\$12.00	\$2,160.00	\$25.00	\$4,500.00
Total Base Bid				\$123,480.00		\$131,068.65		\$136,815.00		\$144,168.75	

G GILMORE & ASSOCIATES, INC.
&A BID TABULATION

CLIENT:

West Norriton Township

PROJECT NAME:

Brandon Road and Juniata Road Mill & Overlay

PROJECT NUMBER:

20-07104

PROJECT BID DATE:

DATE: 26-Aug-20

N. Abbonizio Contractors
 1250 Conshohocken Road
 Conshohocken, PA 19428
 610-275-8540

Advanced Pavement Group
 1060 Boot Road
 Downingtown, PA 19335
 610-296-0816

Schlouch, Inc.
 PO Box 69
 Blandon, PA 19510
 610-926-7070

GoreCon, Inc.
 3240 Bristol Road
 Chlafort, PA 18914
 267-880-0890

#	DESCRIPTION	QUANTITY & UNITS		N. Abbonizio Contractors		Advanced Pavement Group		Schlouch, Inc.		GoreCon, Inc.	
				UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL	UNIT PRICE	TOTAL
BASE BID											
1	1.5" Roadway Mill - Brandon Road	9660	SY	\$2.00	\$19,320.00	\$2.20	\$21,252.00	\$2.58	\$24,922.80	\$2.58	\$24,922.80
2	1.5" Wearing Course, including tack coat & joint sealant - Brandon Road	9660	SY	\$8.00	\$77,280.00	\$8.35	\$80,661.00	\$7.91	\$76,410.60	\$8.30	\$80,178.00
3	1.5" Roadway Mill - Juniata Road	4665	SY	\$2.00	\$9,330.00	\$2.20	\$10,263.00	\$2.45	\$11,429.25	\$2.74	\$12,782.10
4	1.5" Wearing Course, including tack coat & joint sealant - Juniata Road	4665	SY	\$8.00	\$37,320.00	\$8.35	\$38,952.75	\$8.00	\$37,320.00	\$8.45	\$39,419.25
5	3" Base Repair	180	SY	\$23.00	\$4,140.00	\$32.00	\$5,760.00	\$48.00	\$8,640.00	\$26.26	\$4,726.80
Total Base Bid				\$143,250.00		\$156,888.75		\$158,722.65		\$162,028.95	

G GILMORE & ASSOCIATES, INC.
&A BID TABULATION

CLIENT:

West Norriton Township

PROJECT NAME:

Brandon Road and Juniata Road Mill & Overlay

PROJECT NUMBER:

20-07104

PROJECT BID DATE:

DATE: 26-Aug-20

Meco Constructors, Inc.
 684 Dunk Ferry Road
 Bensalem, PA 19020
 215-671-9535

Marino Corporation
 1400 Cressman Road
 P.O. Box 1209
 Skippack, PA 19474
 610-584-1800

Highway Materials
 409 Stenton Avenue
 Flourtown, PA 19031
 610-832-8000

T. Schiefer Contractors, Inc.
 3864 Old Easton Road
 Doylestown, PA 18902
 215-345-1521

#	DESCRIPTION	QUANTITY & UNITS		UNIT PRICE	TOTAL						
BASE BID											
1	1.5" Roadway Mill - Brandon Road	9660	SY	\$2.55	\$24,633.00	\$2.70	\$26,082.00	\$2.50	\$24,150.00	\$3.24	\$31,298.40
2	1.5" Wearing Course, including tack coat & joint sealant - Brandon Road	9660	SY	\$8.00	\$77,280.00	\$8.70	\$84,042.00	\$8.70	\$84,042.00	\$8.88	\$85,780.80
3	1.5" Roadway Mill - Juniata Road	4665	SY	\$2.80	\$13,062.00	\$2.70	\$12,595.50	\$3.50	\$16,327.50	\$3.24	\$15,114.60
4	1.5" Wearing Course, including tack coat & joint sealant - Juniata Road	4665	SY	\$9.80	\$45,717.00	\$8.70	\$40,585.50	\$9.50	\$44,317.50	\$8.88	\$41,425.20
5	3" Base Repair	180	SY	\$33.00	\$5,940.00	\$52.40	\$9,432.00	\$33.75	\$6,075.00	\$38.00	\$6,840.00
Total Base Bid				\$166,632.00		\$172,737.00		\$174,912.00		\$180,459.00	

G GILMORE & ASSOCIATES, INC.
&A BID TABULATION

CLIENT:

West Norriton Township

PROJECT NAME:

Brandon Road and Juniata Road Mill & Overlay

PROJECT NUMBER:

20-07104

PROJECT BID DATE:

DATE: 26-Aug-20

Berg Construction, LLC P.O. Box 828 Morgantown, PA 19543 610-913-0076
--

#	DESCRIPTION	QUANTITY & UNITS		UNIT PRICE	TOTAL
BASE BID					
1	1.5" Roadway Mill - Brandon Road	9660	SY	\$2.85	\$27,531.00
2	1.5" Wearing Course, including tack coat & joint sealant - Brandon Road	9660	SY	\$10.00	\$96,600.00
3	1.5" Roadway Mill - Juniata Road	4665	SY	\$4.00	\$18,660.00
4	1.5" Wearing Course, including tack coat & joint sealant - Juniata Road	4665	SY	\$10.25	\$47,816.25
5	3" Base Repair	180	SY	\$50.00	\$9,000.00

Total Base Bid

\$199,607.25
